DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 3)

DIVISION WITH 10 Name:
Time: Score: A

H —316 =10 = 1) —8244 + 10 =
) 5=10 = 1M —49.6 + 10 =
5 —45 =~ 10 = 1) —22540 = 10 =
4 —48740 + 10 = 19 —608.8 =10 =
5 —57240 = 10 = 200 —24550 + 10 =
6 —8431 = 10 = 21 —76150 + 10 =
N —6025 + 10 = 2) =594 + 10 =

8 —057.4 =10 = 23 —282.1 =10 =
9 —744 + 10 = 2 —=77970 + 10 =
10 —96450 + 10 = 2 —151.4+10 =
1) —29530 = 10 = 26) —88330 + 10 =
12) —6621 = 10 = 27 —5H3990 = 10 =
1) —138.8 + 10 = 2 —2949 + 10 =
1) —12750 = 10 = 290 —291.7 =10 =
15 172 =10 = 30 —bH871 =10 =

Mathematics: Division - Level 6 - Horizontal - Set 3
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